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POST v http://13.125.247.141:5000/learning/model/526
Params Authorization Headers (9) Body @ Pre-request Script Tests Settings
none @ form-data x-www-form-urlencoded raw binary GraphQL
KEY VALUE
train_data 526_train_data.txt X
test_data 526_test_data.txt X
= API
o U=
POST v http://15.164.217.112:5000/analyze/content
Params Authorization Headers (9) Body ® Pre-request Script Tests Settings
none form-data x-www-form-urlencoded @ raw binary GraphQL JSON v
14
2, "memberId":526,
3 "content":"HO{YY HISHR FTAZHR = B L22NZ IYY et LD @6
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os: mac Ventura 13.0 M1

Anaconda : 4.12.0
python : 3.9.0

2tolEdi el

nltk : 3.7

numpy : 1.22.3
konlpy : 0.6.0
tensorflow : 2.9.1
sklearn : 1.1.1
flask : 2.1.2
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import json

import os

import time

from pathlib import Path

import nltk
import numpy as np
from 59Q£E¥L3§9 import Okt

(0] 4

from
from
from
from
from
from
from

from
from

okt()

tensorflow.keras import models
tensorflow.keras import layers

AAAAAAAAAAAAAAAAAAAAANAAN

tensorflow.keras import optimizers
tensorflow.keras import losses

AAAAAAAAAAAAAANAA

keras.wrappers.scikit_learn import KerasClassifier

sklearn.model_selection import KFold

VNV VVVVVVVVVVVVVIN - UV VVV VIV

sklearn.model_selection import cross_val_score

flask import Flask, request
werkzeug.utils import secure_filename
app = Flask(__name__)

>>> import nltk
Traceback (most recent call last):

File "<stdin>", line 1, in <module>
ModuleNotFoundError: No module named 'nltk'

XX #Z2 elolEdel=

(base)% conda activate tf ~ (Jt&I&HE & &H)
(tf)% conda install nltk (2t0lEed e
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Linux or mac os 0| %!
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ctolEeiel ExlotHAM X0t et &= =0
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java jdk Jt 228t A =0| UL,

20 £ HE0| o ZF2®H AX|JF o =L

A A
openjdk version "15.0.7" 2022-04-19

OpenJDK Runtime Environment Zulul5.40+19-CA (build 15.0.7+4-MTS)
OpenJDK 64-Bit Server VM Zulul5.40+19-CA (build 15.0.7+4-MTS, mixed mode)

Ol HE L= otH &XIJt 2 240ICt,

& X| URL
https://www.azul.com/downloads/?version=java-15-mt
s&os=macos&architecture=x86-64-bit&package=jdk
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https://www.azul.com/downloads/?version=java-15-mts&os=macos&architecture=x86-64-bit&package=jdk
https://www.azul.com/downloads/?version=java-15-mts&os=macos&architecture=x86-64-bit&package=jdk

DY &g API

read_data(filename):

with open(filename, 'r') as f:
data = [line.split(' ') for line in f.read().splitlines()]
data = datal[1:]

return data

@app.route("/learning/model/<int:memberId>", methods=['POST']) : content
def learning_model(memberId): g702! £28 HBH0IHE
gl +~2Z Fole! #H=0pAI3Ql
) S C2AEZ= ZF0{! M3 F1 sk 22t=d|
if (not memberld): AL R FEC A, JHC A2l W Aol
return {"error": "memberId is missing"}, 400 SAEIEZISE Wy N HE Zole! X
#22|QHLAHHAE TR ZOIATIZI0|A ZIm FEHolol|2. . N CimZ. .

file = request.files['train_data'l

filename = secure_filename(file.filename)
file.save(filename)

train_data = read_data(str(memberId) + '_train_data.txt')

file = request.files['test_data'l print(train_datal[@])
filename = secure_filename(file.filename) print(train_datal[1])
file.save(filename)

test_data = read_data(str(memberId) + '_test_data.txt')

train_data.txt

['e0071', '0', 'RLH0 ! E28 MIHAoO|H "]

['00073', '1', 'Y=l =& Fol! H=x0lA302 AE Fot2!']



def tokenize(doc):

return ['/'.join(t) for t in okt.pos(doc, norm=True, stem=True)]

if os.path.isfile(str(memberId) + '_rating_data.json'):
with open(str(memberId) + '_rating_data.json') as f:
train_docs = json.load(f)
with open(str(memberId) + '_test_data.json') as f:
test_docs = json.load(f)
else:
train_docs = [(tokenize(row[2]), row[1]) for row in train_datal
test_docs = [(tokenize(row([2]), row[1]) for row in test_datal
with open(str(memberId) + '_rating_data.json', 'w', encoding="utf-8") as make_file:
json.dump(train_docs, make_file, ensure_ascii=False, indent="\t")
with open(str(memberId) + '_test_data.json', 'w', encoding="utf-8") as make_file:
json.dump(test_docs, make_file, ensure_ascii=False, indent="\t")

tokens = [t for d in train_docs for t in d[@]]
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text = nltk.Text(tokens, name='NMSC')
selected_words = [f[0] for f in text.vocab().most_common(10000)]

def term_frequency(doc):

return [doc.count(word) for word in selected_words] 2HCH &8 S& 5145 2|8ol=

=

train_x = [term_frequency(d) for d, _ in train_docs]

test_x = [term_frequency(d) for d, _ in test_docs] xOl= S& &=, ylll=

train_y = [c for _, ¢ in train_docs] O

test_y = [c for _, c in test_docs]

X_train = np.asarray(train_x).astype('float32' _

x_test = npl.)asarray)(/::est x;.z)istypzr()'iloatn') | gﬂ? HH%;% b= A

— = Xelotd| ?lst OFAIE
&

y_train = np.asarray(train_y).astype('float32')
y_test = np.asarray(test_y).astype('float32")
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def create_model():
model = models.Sequential()
model.add(layers.Dense(64, activation='relu', input_shape=(10000,

o Mg ol
model.add(layers.Dense(64, activation='relu')) ijlj;'l cdloloi2 #d= 22
model.add(layers.Dense(1, activation='sigmoid')) é":'a*l ol =JHEQ0 X2 &4
model.compile(optimizer=optimizers.RMSprop(1lr=0.001), - optimizer: o BA &t

loss=1losses.binary_crossentropy,
metrics=["acc"])
return model

- loss: =4 &

- metrics: Bl X =
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np.random.seed(seed)

model KerasClassifier(build_fn=create_model, epochs=10, batch_size=512, verbose = 0)
kfold KFold(n_splits=10, shuffle=True, random_state=seed)
results = cross_val_score(model, x_train, y_train, cv=kfold)

model = create_model()

model.fit(x_train, y_train, epochs=10, batch_size=512, validation_data=(x_test, y_test))
model.save("saved_model/" + str(memberId) + "_model")

response = {
"kfold_average": "{:.2f}".format(results.mean()),

return response, 200



@app.route("/analyze/content", methods=['P0OST'])
def analyze_content():
params = request.get_json()

memberId = params|['memberId']
if (not memberId):
return {"error": "memberId is missing"}, 400

content = params['content']
if (not content):
return {"error": "content is missing"}, 400




if os.path.isfile(str(memberId) + '_rating_data.json'):
with open(str(memberId) + '_rating_data.json') as f:
train_docs = json.load(f)
else:

return {"error": "memberId: " + str(memberId) + " No learning model found"}, 400

tokens = [t for d in train_docs for t in d[0]]
text = nltk.Text(tokens, name='NMSC')
selected_words = [f[@] for f in text.vocab().most_common(10000)]




ZE= 0=

model.predict &2 ZHI= (

A

def term_frequency(doc):
return [doc.count(word) for word in selected _words]

f predict_pos_neg(model, content):

token = tokenize(content)

tf = term_frequency(token)

data = np.expand_dims(np.asarray(tf).astype('float32'), axis=0)
score = float(model.predict(data))

return score
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model_dir = Path("saved_model/" + str(memberId) + "_model")
if not model_dir.is_dir():
return {"error": "memberId: " + str(memberId) + " No learning model found"}, 400

model = models. load_model("saved_model/" + str(memberId) + "_model")
score predict_pos_neg(model, content)

response = {
"ai_feedback": round(score, 2)

return response, 200



